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It will tend towards zero because new firms will enter a particular industry where economic
profit is being made.

Is often due to a firm becoming so large it can exploit its customer base.
It should be taxed if an economy is to remain dynamic.

It is usually larger than accounting profit.
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It will tend towards zero because new firms will enter a particular industry where economic
profit is being made.

Is often due to a firm becoming so large it can exploit its customer base.

It should be taxed if an economy is to remain dynamic.

It is usually larger than accounting profit.
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